
Please read the instructions carefully. You are allotted 5 Minutes specifically for this purpose .
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A. General : 
1. This Question Paper contains 80 questions. Please check 

before starting to attempt. The question paper consists Two 
Sections. Section�A (Conceptual Section) & Section�B 
(Brilliance Section) .  Section-A , 3 Parts: Accounts (1 to 20), 
Economics (21 to 40) , Business Studies (41 to 60) and 
Section-B ,  3 Parts , Accounts  (61 to 65) ,  Economics (66 
to 70) ,  Business Studies (71 to 80) . 

v - lkekU; % 
1- bl iz'u&i=k esa 80 iz'u gSaA Ñi;k ijh{kk 'kq:  d jus l s igys t k¡p ysaA bl 

iz'u&i=k esa nks [k.M gSA [k.M&v ¼oSpkfjd  [k.M½ rFkk [k.M&c ¼izfrHkk 
[k.M½A [k.M&v esa] rhu Hkkx bl izd kj gSa & ys[kkk'kkL=k (1 ls 20)  , 
vFkZ'kkL=k (21 ls 40) , O;kol kf;d  v/;;u (41 l s 60) rFkk [k.M&c esa rhu 
Hkkx bl  izdkj gSa & ys[kkk'kkL=k (61 ls 65)  , v FkZ'kkL=k (66 ls 70) , 
O;kolkf;d  v /;;u (71 ls 80) 

2. Space is  provided within question paper for rough work 
hence no additional sheets will be provided. 

2- jQ  d k;Z d jus d s fy , iz'u&i=k esa gh LFkku fn;k x;k gS vr% 
v frfjDr : i l s d ksbZ 'khV ;k isij ugha fn;k t k,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular 
phones and electronic gadgets in any form are not allowed 
inside the examination hall. 

3- [kkyh d kxt ] r[rh] y ?kqx.kd  lkj.kh] d sYd qy sVj] l sy  Q ksu ,oa 

fd l h Hkh izd kj d s by sDVªkWfud  xSt sV ijh{kk gkWy esa y kuk oft Zr gSA 

4. The answer sheet,  a machine-gradable Objective 
Response Sheet (ORS), is provided separately. 

4- mÙkj iqfLrd k] v kWCt sfDVo jsLikWUl  'khV ¼vks-v kj-,l-½ t ks fd  e'khu 

}kjk t k¡ph t k,xh] v y x l s iznku d h xbZ gSA 
5. Do not Tamper / mut ilate the ORS or this booklet . 5- vks-vkj-,l - ;k iz'u&i=k d ks fd l h Hkh izd kj l s d kaVs&NkaVs ;k eksM+s ughaA 
6. Do not break the seals of the question-paper booklet  before 

instructed to do so by the invigilators. 
6- iz'u&i=k d h l hy  rc rd  ugha [kksy sa t c rd  fd  fujh{kd  }kjk 

funsZ'k ugha fn, t k,saA 
7. SUBMIT the ORS to the invigilator after completing the test 

& take away the test paper with you. 
7- ijh{kk l ekIr gksus d s ckn vks-v kj-,l - 'khV fujh{kd  d ks lkSais rFkk 

iz'u&i=k v ius l kFk y s t k,saA 
8. Any student found/reported using unfair means to improve his/her 

performance in the test, shall be disqualified from STaRT-2018. 
8- ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa d k iz;ksx djrk 

ik;k x;k ;k ,slk lwfpr fd;k x;k rks og STaRT-2018 d s fy, v;ksX; gksxkA 
B.   How to fil l Objective Response Sheet (ORS) for fi lling 

details marking answers: 
9. Use only  HB Pencil for filling the ORS. Do not use Gel/Ink/Felt 

pen as it might smudge the ORS. 

c- v kWCt sfDVo jsLikWUl  'khV ¼vks-v kj-,l -½ esa fMVsYl  rFkk m Ùkj v afd r 

d jus d s fy , fuEu izd kj Hkjsa % 
9- vks-v kj-,l - Hkjus d s fy , d soy HB isafl y  d k gh iz;ksx d jsaA 

t sy @L;kgh@Q sYV isu iz;ksx ugha d jsaA 
10. Write your STaRT-2018 Student Registrat ion No. in the 

boxes given at the top left corner of your ORS with 
blue/black ball point pen. Also, darken the corresponding 
bubbles with HB Pencil only. 

10- v iuk  STaRT-2018 fo|kFkhZ jft LVªs'ku Ø ekad  vks-vkj-,l- 'khV ds ck;sa 
d ksus esa fn, x, LFkku esa uhys ;k dkys ckWy  isu l s HkjsaA lkFk gh Ø ekad  ds 

vuqlkj uhps fn, x;s xksyksa dks Hkh HB isafly  ls xgjk djsaA 

11. If  any student does not fill his/her STaRT-2018 Student 
Registration No. correctly and properly , then his/her ORS 
will not  be checked/evaluated. 

11- ;fn d ksbZ fo| kFkhZ viuk STaRT-2018 fo|kFkhZ jft LVªs'ku Ø ekad  
l gh ,oa Bhd  <ax ls ugha Hkjrk gS rks m ld h v ks-v kj-,l - d ks 
p Sd @ewY;kafd r ugha fd ;k t k,xkA 

12. Since it is  not possible to erase and correct pen filled bubble, 
you are advised to be extremely careful while darken the 
bubble corresponding to your answer. 

12- v ks-v kj-,l - esa fn, x, xksy ksa d ks ;fn ,d  ckj ckWy  isu ls xgjk 
fd ;k t krk gS rks m ls feVkuk laHko ugha] bl fy , fo|kFkhZ iwjh 
l rd Zrk ls gh xksy ksa d ks xgjk d jsaA 

13. Neither try to erase / rub / scratch the option nor make the 
Cross (X) mark on the opt ion once filled. Do not scribble, 
smudge, cut,  tear,  or wrinkle the ORS. Do not put any stray 
marks or whitener anywhere on the ORS. 

13- ,d  ckj fd lh fod Yi d s xksy s d ks xgjk d jus d s ckn feVkus ;k   
[kqjp us d k iz;Ru ugha d jsaA v ks-v kj-,l - 'khV ij fd l h izd kj d s 
/kCcs] xUnxh ;k fl y oV u y xus nsa v kSj u gh bl s eksM+sa ;k d kVsaA 

14. If there is any discrepancy between the written data and the 
bubbled data in your ORS, the bubbled data will be taken as final. 

14- ;fn fd l h l anHkZ esa fy f[kr ,oa xksy ksa esa vafd r t kud kjh esa v arj 
ik;k x;k rks xksy ksa esa vafd r t kud kjh d ks gh izekf.kd  ekuk t k,xkA 

C. Question paper format and Marking scheme : 
15. SECTION-A: For each right answer you will be awarded 3 marks 

if you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus one (�1) mark will be awarded. 

l- iz'u&i=k izk: i ,oa v ad iznku fu;e %  

15- [k.M&v % izR;sd  mÙkj d s fy, 3 vad  fn, tk,xsa ;fn lgh xksys d ks xgjk fd ;k 
x;kA ;fn xyr xksys d ks xgjk fd ;k x;k rks ¼�1½ vad d kVk tk,xkA ;fn 
fd lh xksys d ks Hkh xgjk ugha fd;k x;k rks 'kwU; vad  fn;k t k,xkA 

16. SECTION-B: For each right answer you will be awarded 6 marks 
if you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus two (�2) mark will be awarded 

16- [k.M&c% izR;sd mÙkj ds fy, 6 vad  fn, tk,xsa ;fn lgh xksys d ks xgjk fd ;k 
x;kA ;fn xy r xksys d ks xgjk fd ;k x;k rks ¼�2½ vad  d kVk tk,xkA ;fn 

fd lh xksys d ks Hkh xgjk ugha fd;k x;k rks 'kwU; vad  fn;k t k,xkA 

 

CORPORATE OFFICE : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)  -  324005
Ph.No. : +91-744-3012222, 6635555 | Toll Free : 1800 258 5555

Reg. Office : J-2, Jawahar Nagar, Main Road, Kota (Raj.)-324005  |  Ph. No.: +91-744-3192222 | FAX No. : +91-022-39167222

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in | CIN: U80302RJ2007PLC024029

Resonance Eduventures Ltd.

http://www.resonance.ac.in
mailto:contact@resonance.ac.in


Corp. Office  :   CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Rd, Kota (Raj.)-324005

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in

Toll Free :  1800 258 5555  |  CIN: U80302RJ2007PTC024029 STP_CLASS XI C  �  1

7

 

SECTION-A (CONCEPTUAL SECTION) Hkkx-v  ¼oSpkfjd Hkkx½
PART-I (ACCOUNTS)  Hkkx- I ¼ys[kk'kkL=k½

Straight Objective Type
This section contains (1-20) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj
bl [k.M esa (1 � 20) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

1. Who is NOT the user of Accounting Information ?
(A)  Owners (B)  Management (C)  Investors (D)  Minors

ys[kkad u lwpukvksa d k mi;ksxd rkZ d kSu ugha gS \
(A)  Lokeh (B)  izcU/ku (C)  fuos'kd (D)  vo;Ld

2. A person who has to pay money to the firm is called ________ .
(A)  Creditor (B)  Debtor (C)  Supplier (D)  Cash

,d  O;fDr ft ls Q eZ d ks : i;k nsuk gS] ________ d gykrk gS %
(A)  ysunkj (B)  nsunkj (C)  vkiwfrZd rkZ (D)  jksd M+

3. According to going concern concept, the business entity will continue to exist:
(A)  Indefinitely (B)  Permanently
(C)  Temporarily (D)  None of these

lrr O;olk; vo/kkj.kk d s vuqlkj O;kolkf;d  bd kbZ pkyw jgsxh %
(A)  vfuf'kpr d ky rd (B)  LFkk;h : i ls
(C)  vLFkk;h : i ls (D)  buesa ls d ksbZ ugha

4. Which of the following is correct ? Owner�s Equity is ________ .
(A) (Current Asset + Fixed Asset)  + (Current Liabilities + Long-term Liabilities)
(B) (Current Asset + Fixed Asset)  � (Current Liabilities + Long-term Liabilities)
(C) (Current Asset � Fixed Asset)  � (Current Liabilities + Long-term Liabilities)
(D) None of these

buesa ls d kSu lgh gS \ Lokeh d h lerk gS ________
(A) (pkyw lEifÙk + LFkk;h lEifÙk)  + (pkyw nkf;Ro + nh?kZd kfyd  nkf;Ro)
(B) (pkyw lEifÙk + LFkk;h lEifÙk)  � (pkyw nkf;Ro + nh?kZd kfyd  nkf;Ro)
(C) (pkyw lEifÙk � LFkk;h lEifÙk)  � (pkyw nkf;Ro + nh?kZd kfyd  nkf;Ro)
(D) mi;qZDr esa ls d ksbZ ugha

5. Accounting Standard � 6  is on ________ .
(A)  Valuation of Inventory (B)  Depreciation
(C)  Accounting for Fixed Assets (D)  Borrowing Costs

ys[kkad u ekud  � 6  ________ ij gS %
(A)  bUos.Vjh d s ewY;kad u (B)  âkl ys[kkad u
(C)  LFkk;h lEifÙk;ksa d s fy, ys[kkad u (D)  m/kkj d h yxkrsa
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6. How many days are allowed as days of grace for payment of a bill ?

fcy d s Hkqxrku d s fy;s fd rus fnu fj;k;rh fnu d s : i esa fn;s t krs gSaa \
(A)  2 (B)  3 (C)  4 (D)  1

7. Under the Cash Basis of Accounting, expenses are recorded :
(A)  On Payment (B)  On being incurred
(C)  (A) and (B) both (D)  None of these

ys[kkad u d s mikt Zu vk/kkj d s vUrZxr O;;ksa d k ys[kk fd ;k t krk gS %
(A)  Hkqxrku fd ;s t kus ij (B)  O;; ns; gksus ij
(C)  (A) ,oa (B) nksuksa (D)  buesa ls d ksbZ ugha

8. Debit note is prepared for which transaction :
(A)  For Purchase of Goods (B)  For Cash Sales of Goods
(C)  For Purchases Returns (D)  For Sales Returns

uke i=k fd l ysu&nsu d s fy, rS;kj fd ;k t krk gS %
(A)  eky d k Ø ; d jus d s fy, (B)  eky d k ud n foØ ; d jus d s fy,
(C)  Ø ; okilh d jus d s fy, (D)  foØ ; okilh d jus d s fy,

9. The periodic total of Purchases Returns Journal is posted to ________ .
(A)  Purchase Account (B)  Profit and Loss Account
(C)  Furniture Account (D)  Purchase returns Account

Ø ; okilh jkst ukepk d k vkof/kd  ;ksx ________ [kkrs esa izfo"V fd ;k t krk gSA
(A)  Ø ; [kkrk (B)  ykHk o gkfu [kkrk
(C)  Q uhZpj [kkrk (D)  Ø ; okilh [kkrk

10. A Pass Book is a copy of :
(A) Cash Book relating to a Bank Column
(B) A Customer�s Account in the Bank�s Books
(C) Firm�s Receipts and Payments Account
(D) None of these

ikl cqd  ,d  izfrfyih gSa %
(A) cSad  [kkus ls lEcfU/kr jksd M+ cgh d h (B) cSad  d h cfg;ksa esa xzkgd  d s [kkrs d h
(C) Q eZ d h izkfIr ,oa Hkqxrku [kkrs d h (D) buesa ls d ksbZ ughaA

11. Errors of omission affect the agreement of the :
(A)  Balance Sheet (B)  Trial Balance
(C)  Trading Account (D)  None of these

NqV t kus okyh v'kqf) ;k¡ feyku d ks izHkkfor d jrh gSa %
(A) fpV~Bs d s (B) ryiV ls
(C)  O;kikj [kkrk (D)  buesa ls d ksbZ ughaA

12. Prepaid expenses given in the Trial Balance is shown in :
(A)  Trading A/c (B)  Profit & Loss A/c
(C)  Balance Sheet (D)  None of these

ryiV esa fn;k x;k iwoZnRr O;; fuEu esa fn[kk;k t krk gSa %
(A)  O;kikj [kkrk (B)  ykHk gkfu [kkrk
(C)  fpV~Bk (D)  buesa ls d ksbZ ughaA
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13. The primary qualities that make accounting information useful for decision-making are:
(A)  Relevance and Freedom from Bias (B)  Reliability and Comparability
(C)  Comparability and Consistency (D)  None of the these

izkFkfed  xq.k t ks ys[kkad u lwpuk d ks fu.kZ; ysus esa mi;ksxh cukrk gS] gSa %
(A)  lEcð rk¼laxrrk½ rFkk i{kikr ls LorU=k (B)  fo'oluh;rk rFkk rqyuh;rk
(C)  rqyuh;rk rFkk ,d : irk (D)  buesa ls d ksbZ ugha

14. Excess of assets over liabilities is called:
(A)  Creditors (B)  Profit (C)  Capital (D)  Goodwill

lEifRr;ksa d k nkf;Roksa ij vkf/kD; d gykrk gSa %
(A)  ysunkj (B)  ykHk (C)  iw¡t h (D)  [;kfr

15. Life membership fees received by Club is shown in :
(A)  Income and Expenditure A/c (B)  Balance Sheet
(C)  Receipts and Payment A/c (D)  None of these

,d  Dyc }kjk izkIr vkt hou lnL;rk 'kqYd  d ks fn[kk;k t krk gSa %
(A)  vk; ,oa O;; [kkrs esa (B)  fpV~Bs esa
(C)  izkfIr ,oa Hkqxrku [kkrs esa (D)  buesa ls d ksbZ ughaA

16. When the Bank account in the Cash Book of a customer shows a debit balance, the customer�s
account in the Bank�s book must generally show:
(A)  A Credit Balance (B)  A Net Balance
(C)  A Credit Balance (D)  None of these

t c xzkgd  d h jksd M+ iqLrd  d s cSad  [kkrs d k 'ks"k MsfcV ckd h iznf'kZr d jrk gks rks cSad  d h iqLrd  esa xzkgd  d k
[kkrk fu'p; gh fn[kkbZ nsuk pkfg, %
(A)  uke 'ks"k  (B)  ‘'kq)  ‘'ks"k (C)  t ek 'ks"k (D)  buesa ls d ksbZ ugha

17. Rectification after preparation of final accounts is done through ________ .
(A)  Profit & Loss A/c (B)  Profit & Loss Adjustment Account
(C)  Profit & Loss Appropriation Account (D)  None of these

vfUre [kkrksa d s fuekZ.k d s ckn ukeek=k [kkrs ls lEcfU/kr v'kqf) ;ksa d k  lq/kkj fd ;k t krk gSa ______ d s
ek/;e lsA
(A)  ykHk gkfu [kkrs (B)  ykHk gkfu fu;kst u [kkrs
(C)  ykHk gkfu lek;kst u [kkrs (D)  buesa ls d ksbZ ugha

18. Reserves arising from capital receipts are known as :
(A)  Capital Reserve (B)  Reserve Fund
(C)  Both (A) and (B) (D)  None of these

iw¡t hxr izkfIr;ksa ls cus lap;ksa d ks d gk t krk gSa %
(A)  iw¡t hxr lap; (B)  lap; d ks"k
(C)  nksuksa (A) vkSj (B) (D)  buesa ls d ksbZ ugha

19. Computer is a :
(A)  Launching Machine (B)  Calculator
(C)  Controlling Device (D)  None of these

d EI;wVj ,d  gS %
(A)  ykafpax e'khu (B)  d Syd qysVj
(C)  d .Vªksfyax mid j.k (D)  d ksbZ ugha
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20. Hard Copy Printer is:
(A)  Output Device (B)  Input Device
(C)  Powerful Computer (D)  Accumulated Device

gkMZ d kWih fiz.Vj gSa %
(A)  vkmViqV mid j.k (B)  buiqV mid j.k
(C)  'kfDr'kkyh d EI;wVj (D)  lap; mid j.k

PART - II (ECONOMICS)   Hkkx- II ¼vFkZ'kkL=k½
Straight Objective Type

This section contains (21-40) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj
bl [k.M esa (21 � 40) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

21. Classification indicates :
(A)  Uniformity of Data (B)  Disuniformity of Data
(C)  Both (A) and (B) (D)  None of these

oxhZd j.k lwfpr d jrk gS %
(A) lead ks d h lekurk (B)  lead ks d h vlekurk
(C)  mijksDr nksuksa (D)  buesa ls d ksbZ ugha

22. The  most  stable  measure  of  Central  Tendency  is ________ .
(A)  Mode (B)  Median
(C)  Arithmetic  Mean (D)  None of these

________  d sUnzh;  izof̀r  d k  lcls  vf/kd   LFkk;h  eki  gSA
(A)  cgqyd (B)  ekf/;d k
(C)  lekUrj ek/; (D)  buesa ls d ksbZ ugh

23. Find  the  value  of  x  if , = 32.454  of  the  following  series .

fuEu  Js.kh  esa  x  d k  eku  Kkr  d jks  ;fn   = 32.454

X :    4 ,    7 ,    10 ,    18 ,    20 ,   x ,    23 ,    45 ,    40 ,    60 ,    80

(A)  21 (B)  25 (C)  50 (D)  28.7

24. The  formula  to  calculate  Rank  Correlation  Coefficient  is :

Js.kh lg-lEcU/k xq.kkad  Kkr d jus d ks lw=k gS %

(A) 1 � 
1N

D
2

2




(B) 1 � 

1N

D6
2

2





(C) 1 � 
)1N(N

d
2

2




(D) 1� 

NN

d6
3

2




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25. In  �Less than�  Cumulative Frequency Distribution , the  Omitted  Limit  is  the
________ limit .
(A)  Upper (B)  Lower (C)  Middle (D)  None of these

�ls d e�  lap;h vkof̀Ùk forj.k esa NksM+s t kus okyh lhek ________ lhek gSA
(A)  Å ijh (B)  fupyh (C)  e/;orhZ (D)  buesa ls d ksbZ ugha

26. An Orderly Arrangement of Data in Columns and Rows are called :
(A)  Tabulation (B)  Classification
(C)  Investigation (D)  All of these

d kWyeksa vkSj iafDr;ksa d s : i esa lead ks d h Ø ec)  O;oLFkk d ks d grs gS %
(A)  lkj.kh;u (B)  oxhZd j.k
(C)  vuqlU/kku (D)  mijksDr lHkh

27. The  mean  age  of  combined  group  of  men  and  women  is  30 years . If  the  mean  age  of  the  group
of men  is  32  years   and   that   of   the   group  of  women  is  27 . The  __________ %  of  women  and
men  in  the  group will be ________ ..

iq: "k  o  efgykvksa d h ,d  lewg d h vk;q d k ek/; 30 o"kZ gSA  ;fn iq: "k  lewg  d h  vk;q  d k  ek/;  32 o"kZ rFkk
efgykvksa d s  lewg  d k  ek/; 27 o"kZ gks rks ] efgykvksa o iq: "kksa d k izfr'kr gksxk __________ % .
(A)  60 , 40 (B)  80 , 20 (C)  40 , 60 (D)  30 , 70

28. The  most  appropriate  diagram  to  represent  the  data  relating  to  the  Monthly  Expenditure  on  different
items  by  a family is :
(A)  Square Diagram (B)  Line Diagram
(C)  Pie Diagram (D)  All of these

,d  ifjokj }kjk fofHkUu enksa ij ekfld  vk; ls lEcfU/kr vk¡d M+ksa d s izn'kZu d s fy, lcls mi;qDr fp=k
gS %
(A)  oxZ fp=k (B)  js[kh; fp=k
(C) ikbZ fp=k (D)  mijksDr lHkh

29. Who  is  the  �Ex-officio Chairman�  of  NITI  Aayog ?
(A)  Prime Minister (B)  President
(C)  Speaker of Lok Sabha (D)  Chief Justice of Supreme Court

uhfr vk;ksx d k Þinsu-vf/kd kfjd  v/;{kß d kSu gS \
(A)  iz/kkuea=kh (B)  jk"Vªifr
(C)  yksd lHkk Lihd j (D)  loksZp; U;k;ky; esa eq[; U;k;k/kh’k

30. Investment in Human Capital is related with Expenditure in ________ .
(A)  Education (B)  Training
(C)  Health Services (D)  All of these

ekuo iw¡t h esa fuos'k d k lEcU/k ________ esa O;; d jus ls gSA
(A)  f'k{kk (B)  izf'k{k.k
(C)  LokLF; lsok (D)  mijksDr lHkh

31. In India around ________ of population is under 15 or above 64 .

Hkkjr esa t ula[;k d k _________ izfr’kr 15 ls d e rFkk 64 o"kZ ls Å ij gSA
(A)  37 % (B)  63 %

(C)  30 % (D)  None of these   buesa ls d ksbZ ugha
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32. Literacy ratio is number of literates per ________ of population

t ula[;k esa lk{kjrk vuqikr izfr ________ lk{kjkas ij t kuk t krk gSA
(A)  100 (B)  1000 (C)  10,000 (D)  1,00,000

33. Who is known as the �Father of Economics� ?
(A)  Alfred Marshall (B)  Adam Smith
(C)  Paul Samuelson (D)  Henry Smith

 �vFkZ'kkL=k d k t ud � fd ls d gk t krk gS \
(A)  vYÝ sM ek’kZy (B)  ,Me fLeFk
(C)  iWky lSEeqylu (D)  gsujh fLeFk

34. Every ________ person in the world is an Indian .
(A)  Second (B)  Sixth  (C)  Third (D)  Tenth

fo'o esa izR;sd  ________ O;fDr ,d  Hkkjrh; gSA
(A)  nwljk (B)  NBk (C)  rhljk (D)  nlok¡

35. The  last  �All  India  Population  Census�  was  conducted  in  the  year ________ .

vkf[kjh  �vf[ky Hkkjrh; t ux.kuk� o”kZ ________ esa d h x;h FkhA
(A)  2005 (B)  2001 (C)  2011 (D)  1991

36. The  target  for  agricultural  growth  rate  set  up  for  the  XIth  Five  Year  Plan  was ________ .

XI  iapo"khZ; ;kst uk esa d f̀"k {ks=k d s fy, fod kl nj ________ fu/kkZfjr d h x;h Fkh :
(A)  2 % (B)  3 % (C)  4 % (D)  5 %

37. India  has  the  total  share  of  ________ of  earth�s  surface .

fo'o  d s  d qy   Hkw&Hkkx  d s  _______ {ks=k  ij Hkkjr  d k fgLlk gSA
(A)  2.4 % (B)  1.2 % (C)  16.67 % (D)  1.8 %

38. Nearly  ________ percent  of  working  population  in  India  is  engaged  in  Service  Sector .

Hkkjr d h d qy d k;Z'khy t ula[;k d k ________ izfr'kr ] lsok {ks=k ij fuHkZj gSA
(A)  27 % (B)  45 % (C)  80 % (D)  50 %

39. India  has  the ________ largest  Scientific  and Technical  manpower  in  the  world .
(A)  Fifth (B)  Tenth (C)  Eighth  (D)  Third

Hkkjr  fo'o  esa ________ oSKkfud   rFkk  rd uhd h  {kerk  okyk  ns'k gSA
(A)  ikpok¡  (B)  nlok¡ (C)  vkBok¡ (D)  rhljk

40. The  Tenth  Five  Year  Plan  period  was  from ________ tp ________ .

nloha  iapof"kZ;  ;kst uk  ________ ls ________ rd  pyh  FkhA
(A)  1990 � 1995 (B)  1992 � 1997
(C)  2002 � 2007 (D)  2007 � 2012
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PART - III (BUSINESS STUDIES)  Hkkx- III ¼O;kolkf;d v/;;u½
Straight Objective Type

This section contains (41-60) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj
bl [k.M esa (41 � 60) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

41. Economic Activities = ________ .
(A)  Business + Profession (B)  Business + Employment
(C)  Profession + Employment (D)  Business + Profession + Employment

vkfFkZd  fØ ;k,¡ = ________ .
(A)  O;olk; + is'kk (B)  O;olk; + jkst xkj
(C)  is'kk + jkst xkj (D)  O;olk; + is'kk + jkst xkj

42. Which of the following cannot be classified as an �Objective of Business� ?
(A)  Profit Making (B)  Creation of Customers
(C)  Investment (D)  Innovation

fuEu esa ls fd ld ks O;olk; d k mís'; ugha d gk t k ld rk gS \
(A)  ykHk vft Zr d juk (B)  xzkgd  l t̀ u
(C)  fofu;ksx (D)  uo izn'kZu

43. Which of the broad categories of Industries covers Oil Refinery and Sugar Mills ?
(A)  Primary (B)  Secondary (C)  Tertiary (D)  None of these

�vkW;y fjQ kbujh� ,oa �phuh fey � m|ksxksa d h fd l foLrr̀ Js.kh d s varxZr vkrs gS \
(A)  izkFkfed (B)  xkSa.k (C)  rr̀h; (D)  buesa ls d ksbZ ugha

44. Commerce includes :
(A)  Business and Industry (B)  Business and Trade
(C)  Trade and Aids to Trade (D)  None of these

fuEu esa ls okf.kT; esa fd ls lfEefyr fd ;k t krk gSA
(A)  O;olk; ,oa m|ksx (B)  O;olk; ,oa O;kikj
(C)  O;kikj ,oax O;kikj esa lgk;d  fØ ;k,¡ (D)  buesa ls d ksbZ ugha

45. Business Risk is not likely to arise due to :
(A)  Changes in Government Policy (B)  Good Management
(C)  Employees� Dishonesty (D)  Power Failure

O;olkf;d  t ksf[ke ________ d s d kj.k mRiUu ugha gksrkA
(A)  ljd kjh uhfr esa ifjorZu (B)  vPNk izcU/k
(C)  d eZpkjh csbZekuh (D)  ikoj Q sy
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46. �Limited Managerial Skill� is the ________ of Joint Hindu Family Business .
(A)  Feature (B)  Advantage (C)  Limitation (D)  None of these

�lhfer izcU/k pkrq;Z�  la;qDr fgUnw ifjokj O;olk; d k@d h ________ gSA
(A)  fo'ks"krk (B)  ykHk (C)  lhek (D)  buesa ls d ksbZ ugha

47. A Partner whose Association with the Firm is unknown to the General Public is called :
(A)  Active Partner (B)  Sleeping Partner
(C)  Nominal Partner (D)  Secret Partner

,d  lk>snkj d h ft ld h Q eZ d s lkFk lEcU/k d h vke t urk d ks t kud kjh ugha gksrh mls ________ d grs gSA
(A)  lfØ ; lk>snkj (B)  funzkyq lk>snkj
(C)  ukeek=k d k lk>snkj (D)  xqIr lk>snkj

48. Which of the following is the �Liability of a Minor Partner� ?
(A)  Unlimited (B)  Limited
(C)  No Liability (D)  None of these

fuEu esa ls vo;Ld  lk>snkj d k nkf;Ro d kSulk gksrk gS \
(A)  vlhfer (B)  lhfer
(C)  d ksbZ nkf;Ro ugha (D)  buesa ls d ksbZ ugha

49. The Capital of the Company is divided into number of parts , each one of which is called ________ .
(A)  Dividend (B)  Profit (C)  Interest (D)  Share

d Eiuh d h iw¡t h Hkkxksa esa caVh gksrh gS ] izR;sd  Hkkx d ks d grs ________ gSA
(A)  ykHkka'k (B)  ykHk (C)  C;kt (D)  va'k

50. The basic principle of cooperation , �Each for all and all for each� is followed by one of these Business
Organizations . Which is that ?
(A)  Sole Proprietorship (B)  Cooperative Societies
(C)  Partnership (D)  Company

lgd kfjrk  d s  eq[;  fl) kUr  �izR;sd   lcd s  fy,  vkSj  lc  izR;sd   d s  fy;s�  d ks  fd l  O;olkf;d   laxBu
esa  ekuk t krk gS \
(A)  ,d y LokfeRo (B)  lgd kjh lfefr;k
(C)  lk>snkjh (D)  d Eiuh

51. In which type of Company , there is no Restriction on the Transfer of Shares ?
(A)  Public Company (B)  Private Compay
(C)  Both (A) and (B) (D)  None fo these

fd l rjg d h d Eiuh esa va’kksa d s gLrkUrj.k ij izfrcU/k ugha gS \
(A)  lkoZt fud  d Eiuh (B)  fut h d Eiuh
(C)  mijksDr nksuksa (D)  buesa ls d ksbZ ugha

52. In the Absence of �Articles of Association� ________ applies .

ik"kZn vUrfuZ;e d s vHkko esa ________ ykxw gksrh gSA
(A)  Table  A (B)  Table  B (C)  Table  C (D)  Table  D

53. How many Industries are reserved for Public Sector ?

lkoZt fud  {ks=k d s fy, fd rus m|ksx vkjf{kr gS \
(A)  3 (B)  4 (C)  8 (D)  17
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54. Which of the following do not come under E-Banking ?
(A)  Electronic Fund Transfer (B)  Automated Teller Machine
(C)  Debit Card (D)  Overdraft

fuEu esa ls D;k bysDVªkWfud  cSafd ax d s varxZr ugha vkrk gS \
(A)  bysDVªkWfud  Q .M gLrkarj.k (B)  Lopkfyr Vsyj e’khu
(C)  MsfcV d kMZ (D)  vf/kfod .kZ (Overdraft)

55. Which of the following is the objective of Life Insurance ?
(A)  Protection (B)  Investment (C)  Profit (D)  Both (A) and (B)

fuEu esa ls t hou chek d k d kSulk mís'; gS \
(A)  lqj{kk (B)  fofu;ksx (C)  ykHk (D)  (A) rFkk (B) nksuksa

56. What is the Maximum Limit of Period of Insurance for General Insurance ?
(A)  One Year (B)  Five Years (C)  Ten Years (D)  No Limit

lkekU; chek d h vf/kd re chek vof/k lhek D;k gS \
(A)  ,d  o"kZ (B)  ik¡p o"kZ (C)  nl o"kZ (D)  d ksbZ lhek ugha

57. The ________ is helpful in Entertainment .
(A)  Fax (B)  Internet (C)  E-mail (D)  None of these

________ euksjat u esa lgk;d  gksrk gSA
(A)  Q SDl (B)  bUVjusV (C)  bZ-esy (D)  buesa ls d ksbZ ugha

58. e - Commerce does not include :
(A) A business�s interactions with its Suppliers .
(B) A business�s interactions with its Customers .
(C) Interaction among the various departments within the Business .
(D) Interactions among the Geographically Dispersed Units of the Business .

bZ-d kWelZ d s varxZr ________ d ks lfEefyr ugha fd ;k t krk gSA
(A) ,d  O;olk; d k iwfrZd rkZvksa ls lEcU/k
(B) ,d  O;olk; d k vius xzkgd ksa ls lEcU/k
(C) ,d  O;olk; d s fofHkUu foHkkxksa d s e/; lEcU/k
(D) ,d  O;olk; d h nwjLFk LFkkuksa ij Q Syh bd kb;ksa d s e/; lEcU/k

59. Which of the following is not the Social Responsibility of Business towards the Consumers ?
(A) To bring out reality in Advertisement
(B) To make available Good Quality Goods at Cheap Rate
(C) To give them a Share of Profit (D) To avoid Adulteration

fuEu esa ls d kSuls O;olk; d k miHkksDrkvksa d s izfr lkekft d  mÙkjnkf;Ro ugha gS \
(A) foKkiu esa okLrfod rk d ks izd V d juk
(B) vPNh DokfyVh d h oLrq,a mfpr ewY; ij miyC/k d jkuk
(C) ykHk esa fgLlk iznku d juk (D) oLrqvksa esa feykoV u d juk

60. Equity Shareholders are called :
(A)  Owners of the Company (B)  Partners of the Company
(C)  Executives of the Company (D)  Guardian of the Company

lerk va'k/kkfj;ksa d ks ________ d gk t krk gSA
(A)  d Eiuh d s Lokeh (B)  d Eiuh d s lk>snkj
(C)  d Eiuh d s vf/kd kjh (D)  d Eiuh d s vfHkHkkod
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SECTION � B (BRILLIANCE SECTION) Hkkx-c ¼izfrHkk Hkkx½
PART - I (ACCOUNTS)  Hkkx- I ¼ys[kk'kkL=k½

Straight Objective Type
This section contains (61-65) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj
bl [k.M esa (61 � 65) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

61. The  Written  Down  Value  of  an  Asset  after  three  years  of  Depreciation  on  Reducing  Balance  Method
@ 15 %  is   ` 49,130 . Find the Original Value .

?kVrh 'ks"k i) fr ls  15 %  okf"kZd  á l yxkrs gq;s rhu o"kZ i'pkr~ ,d  e'khu d k viysf[kr 'ks"k ewY;
` 49,130 FkkA bld k izkjfEHkd  ewY; Kkr d hft ;sA
(A)  ` 40,000 (B)  ` 80,000 (C)  ` 45,000 (D)  ` 70,250

62. The terms Sales is used only for the Sales of ________ and is never used for the Sale of ________ .
(A)  Assets ,  Investments (B)  Assets ,  Goods
(C)  Intangible Assets ,  Goods (D)  Goods ,  Assets

foØ ; 'kCn d soy ________ d s foØ ; d s fy;s iz;ksx fd ;k t krk gS rFkk ________ d s foØ ; d s fy;s d Hkh
Hkh iz;ksx ugha fd ;k t krk gSA
(A)  lEifÙk;k¡ ] fofu;ksx (B)  lEifÙk;k¡ ] eky
(C)  vn'̀; lEifÙk;k¡ ] eky (D)  eky  ] lEifÙk;k¡

63. Roshan has returned goods worth  ` 5,000 to Radheyshyam as he found it Defective . Which Document
will be prepared by Radheyshyam ?
(A)  Invoice / Bill (B)  Debit Note
(C)  Credit Note (D)  Credit Voucher

jks'ku us =kqfViw.kZ gksus d s d kj.k  ` 5,000  d k eky jk/ks';ke d ks okil fd ;k gSA jk/ks';ke }kjk d kSulk
izi=k rS;kj fd ;k t k;sxk \
(A)  cht d  / fcy (B)  uke i=k
(C)  t ek i=k (D)  Ø sfMV izek.kd

64. Paid to Sonal  ` 11,500  in Full Settlement of  ` 12,000 . Posting will be made in Sonal�s  A/c. as :
(A)  ` 12,000  on  Debit Side (B)  ` 12,000  on  Credit Side
(C)  ` 11,500  on  Debit Side (D)  ` 11,500  on  Credit Side

lksuy d ks  ` 12,000 d s lEiw.kZ Hkqxrku esa  ` 11,500 fn;sA lksuy d s [kkrs esa [krkSuh d h t k;sxh %
(A)  MsfcV esa  ` 12,000 (B)  Ø sfMV esa ̀  12,000

(C)  MsfcV esa  ` 11,500 (D)  Ø sfMV esa ̀  11,500
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65. An  asset  was  purchased  for ̀  6,60,000 . Cash was paid ̀  1,20,000  and  for  the balance a bill was
drawn for 60 days . What will be the effect on fixed assets ?

,d  lEifÙk ̀  6,60,000  esa [kjhnh xbZA uxn  ` 1,20,000  fn;s x;s 'ks"k jkf'k d s fy, 60 fnuksa d k fcy
cuk;k x;kA LFkkbZ lEifÙk;ksa ij D;k izHkko iM+sxk ?
(A)  `  1,20,000 (B)  `  5,40,000

(C)  `  6,60,000 (D)  Zero ('kwU;)

PART - II (ECONOMICS)   Hkkx- II ¼vFkZ'kkL=k½
Straight Objective Type

This section contains (66-70) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj
bl [k.M esa (66 � 70) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

66. Find  Arithmatic  Mean for the following data .

fuEu lehd j.k d k lekarj ek/; Kkr d jksA

x           3            5            8            11            14            17            20

y           4            8           13           18            25            30            40

(A)  8 (B)  25 (C)  3 (D)  20

67. Find Median for the following data :

fuEu lehd j.k d k ekf/;d k Kkr d jksA

x  : 10            20            30            40            50            60            70

f   :   4              7             21            34            25            12             3

(A)  53.5 (B)  50 (C)  40 (D)  38

68. Which one of the following areas is related to �Blue Revolution� in Agriculture Sector ?
(A)  Horticulture (B)  Aqua-culture (C)  Poultary (D)  Dairy

fuEu esa ls fd ld k lEcU/k d f̀"k {ks=k esa Þuhyh Ø kfUrß ls gS \
(A)  ckxokuh (B)  ,Dok-d ypj (C)  eqxhZ ikyu (D)  nqX/k O;olk;

69. Which of the following was the First Indian Bank ?
(A)  Bank of Baroda (B)  Bank of Hindustan
(C)  Punjab National Bank (D)  State Bank of India

fuEu esa ls igyk Hkkjrh; cSad  d kSulk Fkk \
(A)  cSad  vkWQ  cM+kSnk (B)  cSad  vkWQ  fgUnqLrku
(C)  iat kc uS'kuy cSad (D)  Hkkjrh; LVsV cSad
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70. The  components  of  �Human  Development  Index�  are :
(A) Life Expectancy ,  Per Capita GDP and Sex Ratio
(B) Sex Ratio , Educational Attainment and Pure Drinking Water
(C) Life Expectancy ,  Per Capita GDP and Educational Attainment
(D) Per Capita GDP , Infrastructure and Sex Ratio

ekuo fod kl lwpd kad  d s rRo gS %
(A) t hou izR;k'kk ,  izfr O;fDr ld y ?kjsyw mRikn ,oa fyaxkuqikr
(B) fyaxkuqikr , f'k{kk izkfIr ,oa ‘'qk)  is;t y
(C) t hou izR;k'kk ,  izfr O;fDr ld y ?kjsyw mRikn ,oa f'k{kk izkfIr
(D) izfr O;fDr ld y ?kjsyw mRikn , vk/kjHkwr lajpuk ,oa fyaxkuqikr

PART - III (BUSINESS STUDIES)  Hkkx- III ¼O;kolkf;d v/;;u½
Straight Objective Type

This section contains (71-80) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj
bl [k.M esa (71 � 80) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d
lgh gSA

71. Which  of  the  following  Companies  do  not  have  the  obligation  to  get  its  Articles  of  Association
Registered  along  with  the  Memorandum  of  Association ?
(A)  Unlimited Companies (B)  Public Company limited by shares
(C)  Companies limited by Guarantee (D)  Private Companies limited by shares

fuEu esa  ls fd u d Eifu;ksa d s nkf;Roksa esa t : jh ugha gS og vius ik"kZn vUrZfu;e d s lkFk viuss ik"kZn
lhek fu;e Hkh jft LVj d jk;s \
(A)  vlhfer d Eifu;k¡ (B)  lkoZt fud  d Eiuh t ks fd  'ks;jksa }kjk lhfer gks
(C)  xkjUVh }kjk lhfer d Eifu;k¡ (D)  fut h d Eiuh t ks fd  'ks;jksa }kjk lhfer gks

72. Morality means :
(A) what is considered as correct within a Society
(B) making the Right Decision , where there is a chance to do Wrong
(C) defining what is Right and Wrong for an Individual or a Community
(D) where Individuals have a conscious choice to make a Right Decsion

uSfrd rk d k vFkZ gS %
(A) bld ks le>uk fd  lekt  d s vUnj D;k lgh gSA
(B) ml t xg lgh fu.kZ; ysuk ] t gk¡ xyrh gksus d h lEHkkouk gksA
(C) p;u d juk fd  O;fDr ;k leqnk; d s fy;s D;k lgh vFkok xyr gSA
(D) t gk¡ O;fDr;ksa d ks mfpr fu.kZ; ysus d k lpsru fod Yi feyrk gSA
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73. The following factors are key driver of Globalization :
(A) Government Action ,  Exchange Rate ,  Competition and Demographic Factors
(B) Market Convergence , Competition ,  Exchange Rates and Cost Advantages
(C) Cost Advantages , Government Action ,  Economic Cycles and Competition
(D) Smart Cost Competition and Government Policies.

fuEu esa ls d kSuls ?kVd  oS'ohd j.k d k lapkyu d jrs gS :
(A) ljd kjh fØ ;k,a ,  fofue; nj ,  izfr;ksfxrk ,oa t ukafd d h; rRo
(B) ckt kj , izfr;ksfxrk ,  fofue; nj rFkk ykxr ykHk
(C) ykxr ykHk ] ljd kjh fØ ;k,a ] vkfFkZd  pØ  rFkk izfr;ksfxrk
(D) ykxr izfr;ksfxrk vkSj ljd kjh uhfr;ka

74. Insurable  Interest  must be present at the time of Insurance Proposal and Payment of Claims in
________ .
(A)  Fire Insurance (B)  Marine Insurance
(C)  Life Insurance (D)  Motor Insurance

________ esa chek izLrko d s le; rFkk Hkqxrku d k nkok d jrs le; ] chek ;ksX; fgr gksuk vko’;d
gSA
(A)  vfXu chek (B)  lkeqfnzd  chek
(C)  t hou chek (D)  eksVj chek

75. Franchising is :
(A) Purchasing all parts of the company
(B) Allowing another party to use productor services under owner�s name
(C) Joining two or more companies
(D) A company acquiring another company at its will

fo'ks"kkf/kd kj (Ý sapkbt h) gS :
(A) d Eiuh d s lHkh Hkkxksa d ks Ø ; d juk
(B) nwljh ikVhZ d ks Lokeh d s uke ls mRikn iz;ksx d juk
(C) nks ;k vf/kd  d Eifu;ksa ls t qM+uk
(D) ,d  d Eiuh nwljh d Eiuh d ks t Sls pkgs vf/kxzfgr d jsa

76. The �Doing Business Report� is prepared by which of the following organizations every year ?
(A)  World Bank (B)  Asian Development Bank (ADB)
(C)  International Monetary Fund (IMF) (D)  World Trade Organization (WTO)

fd l laxBu }kjk izfr o"kZ  �Doing Business Report�  rS;kj d h t krh gS \
(A)  fo"o cSad   (WB) (B)  ,f'k;u fod kl cSad  (ADB)

(C)  vUrjk"Vªh; ekSfnzd  d ks'k (IMF) (D)  fo'o O;kikj laxBu (WTO)

77. What   type  of  Responsibility  a  Company  accepts  with  regard  to  the  other  Company  under  �Contract
Manufacturing� ?
(A)  Production of Goods (B)  Production of Services
(C)  Collecting Capital (D)  Marketing Goods and Services

d kWUVªSDV  eSU;qQ SDpfjax  d s  varxZr  ,d   d Eiuh  nwljh  d Eiuh  d k  fd l  rjg  d k  mÙkjnkf;Ro  Lohd kj
d jrh  gS \
(A)  oLrqvksa d s mRiknu d k (B)  lsokvksa d s mRiknu d k
(C)  iwat h ,d f=kr d jus d k (D)  oLrqvksa o lsokvksa d s foi.ku d k
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78. Which of the following is not included under the Money Market ?
(A)  Reserve Bank of India (RBI) (B)  Stock Exchange Board of India (SEBI)
(C)  Commercial Banks (D)  None of these

fuEu esa ls d kSu eqnzk ckt kj esa lfEefyr ugha gS \
(A)  Hkkjrh; fjt oZ cSad  (RBI) (B)  Hkkjrh; LVkWd  fofuee cksMZ (SEBI)

(C)  okf.kfT;d  cSad (D)  buesa ls d ksbZ ugha

79. Which one of the following is NOT a Right of a Shareholder ?
(A) To Manage Company Affairs (B) To receive the Company�s Accounts
(C) To  Attend and Vote at Meetings
(D) To  receive a Dividend declared by the Company

fuEu esa ls d kSulk vf/kd kj va'k/kkfj;ksa d k ugha gS \
(A) d Eiuh ekeyksa d k izcU/k (B) d Eiuh [kkrksa d ks izkIr d juk
(C) ehVhax esa mifLFkr gksuk ,oa oksV d juk
(D) d Eiuh }kjk ?kksf"kr ykHkka'k izkIr d juk

80. One of the Disadvantages of a Sole Trader Business is that :
(A) The Owners may Disagree . (B) Decisions take too long to make
(C) Capital is limited to Owner�s Savings and Bank Loans
(D) As they are Government Owned there is NO Profit Motive

fuEu esa ls d kSulh ,d y O;kikjh O;olk; d h d eh gS \
(A) Lokeh vlger gks ld rk gSA (B) fu.kZ; ysus esa vf/kd  nsjhA
(C) Lokeh d h cprksa ,oa cSad  yksu ls iw¡t h lhfer gSA
(D) ljd kj d h Hkkafr ykHk mís'; ugha gSA
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1. D 2. B 3. A 4. B 5. B

6. B 7. B 8. C 9. D 10. B
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56. A 57. B 58. C 59. C 60. A

61. B 62. D 63. C 64. A 65. C

66. A 67. C 68. B 69. B 70. C

71. B 72. C 73. D 74. A 75. B

76. A 77. D 78. B 79. A 80. C

http://www.resonance.ac.in
mailto:contact@resonance.ac.in



